




Find number of Straight line in the given figure ?
दी गई आकृति में सीधी रेखा की संख्या ज्ञाि कीतिए?

(A) 10 

(B) 9 

(C) 12 

(D) 11



Find the option which should replace (?)

AFKP: AVQL :: GLQV : ?

(A) HMRV

(B) HNRW

(C) LKPD
(D) UPKF



Find odd word from the given alternative.
दिए गए दिकल्पमें से दिषम शब्द ज्ञात कीदिए |

(A) 5
(B) 23 

(C) 15

(D) 21



Find odd word from the given alternative.
दिए गए दिकल्पमें से दिषम शब्द ज्ञात कीदिए |

(A) 1976
(B) 1772 

(C) 1344

(D) 1862



In a Certain code MOTHER is written as TOMREH ,than find 
the code for NEPHEW ?
एक तितििकोड में MOTHER काकोड TOMREH  तिखा गया है , 
िो NEPHEW काकोडक्या होगा ?

(1) ENHPWE
(2) PENWEH
(3) WEHPEN
(4) WEHPNE



Find the option which should replace (?)

249 : 522 :: 149 : ?

A. 152
B. 196
C. 230
D. 961



Find the option which should replace (?)

25 + 37 = 227
42 + 26 = 110
63 + 34 = ?

A. 225
B. 215
C. 325
D. 232



Find number of triangle in the given figure ?
दी गई आकृति में तिभुि की संख्या ज्ञाि कीतिए?

(A) 16

(B) 6

(C) 22

(D) 24



Identify the figure that completes the pattern.

(X) (1) (2) (3) (4)

A.1
B.2
C.3
D.4



Find the option which should replace (?)

SKILL : 57

LOVE : 40

LIE : ?

(A) 22

(B) 20

(C) 26  
(D) 17



Find number of triangle in the given figure ?
दी गई आकृति में तिभुि की संख्या ज्ञाि कीतिए?

(A) 13 

(B) 18 

(C) 22 

(D) 16



Find odd word from the given alternative.
दिए गए दिकल्पमें से दिषम शब्द ज्ञात कीदिए |

(A) Game : Ground
(B) Cinema : Screen

(C) Theatre : Stage

(D) Eraser : Rub 



In a Certain code FAITH is written as KELVI ,than find the 
code for CLOUD ?
एक तितििकोड में FAITH काकोड KELVI  तिखा गया है , िो
CLOUD काकोडक्या होगा ?

(1) HEWRP
(2) HPERW
(3) HPRWE
(4) HPWRQ



In climbing a round pole of 80 metres height , a cat climbs 5 metres in a 

minute and slips 2 metres in a alternative minute . How much time would 

the cat take to get to the top of the pole ?

80 मीटर ऊँचाई के एक गोि पोि पर चढ़िे में, एक तिल्ली एक तमिट में 5 मीटर चढ़िा है

और वैकल्पिक तमिट में 2 मीटर तिसि िािा है। पोि के शीर्ष पर पहंचिे में तिल्ली को

तकििा समय िगेगा?

(A) 50

(B) 52

(C) 51

(D) 53



In climbing a round pole of 80 metres height , a cat climbs 5 metres in a 

minute and slips 2 metres in a alternative minute . How much time would 

the cat take to get to the top of the pole ?

80 मीटर ऊँचाई के एक गोि पोि पर चढ़िे में, एक तिल्ली एक तमिट में 5 मीटर चढ़िा है

और वैकल्पिक तमिट में 2 मीटर तिसि िािा है। पोि के शीर्ष पर पहंचिे में तिल्ली को

तकििा समय िगेगा?

(A) 50

(B) 52

(C) 51

(D) 53



Find the odd one (?)

(A) Bear / भालू
(B) Deer / दिरण

(C) Lizard / दिपकली

(D) Snake / सााँप



Find the odd one (?)

(A) House / मकान
(B) Flat / फै्लट

(C) Society / सोसायटी

(D) Building / भिन



Find number of squares in figure?

(A) 11 (B) 21

(C) 24 (D) 26


